%W2E9H205(5)4m10ﬁﬁﬁ

BEINEHEEEER
BE M K E XK E B #®
F40RBLKERGE (Jonll) [HBEXRRKR] FREVCHMHMREEFEE—EBEXR (1/2)
®=E B : SM2F59H29H (N)
®E 5 ERRES
& i B 2, 100m (—Fk-H)
o E B #: 5Ty FRI3FELULE
® 1 EF B % 2, 10075
a8 B E - 3% 51kg. 4WmLlL 54kg 45F 2kglH (FHEIKED IFHE 2keH)
=L, FEEdO~ ®0)&}3Uhuiﬁﬁ’é (2EBBEOREBEERKRL)
D SM2F9H23HFETGIHE1EESkelE, GIEE1ZE ki,
GIREE1FE 1 kgt&
@ DNEEICMAZ., GHREBESHEIL 1ketE, S22 &2 1ketE
©) ﬁﬁi;oiﬁﬁsﬁ57@(ﬁ#ﬁ?55m) 4ﬁuieom~%¥2mm
Gmi GIBE. GIBERUVUGI} ili%h%ndpn EE. Jon I EEE. Jonll
%&Udpnﬂl %’Ea%
X EHEEIF 9H820H(A)
AX/50—7yvTE (K3#) (FH E R R
JoHOZE05 (EW)RY ENY
O HRFEEMEE EEE 5 B (B&E+SIE)
&8
E % = - 2 BEEZ €01 BRTEERT w =
(kg)
IILTay5—>a - 6 54 w2 C. JILA—)L 9/18B5F DIRE
FLSAARO— £ | # 4 55 FRiE =i RE
TRAE—T T oHY— Ey- 4t 4 55 Al R— JE
H—RKId5wy FEwm | 4 5 55 mE - RFE
A—RKLAYZR FEwm | 4 5 54 Fh BZ B 2 9/18E5F D RTE
O AGEMBRAESE EEE 4 (BZ2RE+SIE)
RyYy—LyYS7—)L ZHE | | 10 54 42 B2z |[tE % (&R 91985 F DRE
R"—1)—TLA4X x# | # 6 54 'K ® RE
yrs2E0 s | 4 6 54 BET BA EE BT 9/19%& Y EMY
IPYAVOEA JtimE | 4 4 54 ¥ #08h RE BE AXTVETR1E)
A= A S ZHEE || 6 54 L S HE 9/18 i 7 [B] 8%
HSRiyig ZHEE (]| 9 54 BE % HE 9/18#& ) EHSY - @58
2R HO T K | & 7 54 iEsk—ih HE 9/19H 7 [B] 8%
O € RHGEMESE 38 (RALIE)
YHRFAYHY &R | # 5 54 &m —8 RIE
FAE—TIL— &R | # 6 54 &m —8 RIE
AyvEVTILYY &R | # 4 52 &H —8 RE




SM2E9A20H8 () FHi1 OBRE
EINEHREETER

B M K E X E BE #
F4o0maLXEHEE (Jpnll) [HEEXRK] HRECHMBMREEFEFE—EXK(2/2)

|

R 5
O hRHEEMRBRE (58) (R LIE)
&8
g % OB M| 8| 22 EEE Gl BRTERT % =
{0 (kg)
DER Y=t —H— Fxm ([ #| 6 54 wa - RE
QYA vaz=774 R F®m | #| 8 54 tRE = RE
®|&/ vFa44— FExm (4| 4 54 | KRR EEX RE
@47 18—=T 0 FR | 4| 4 54 il B RE
Bl¥s37Ua—n FR | #| 5 54 il B RE
O hAmEMXREE (288) (WR#2LIE)
@F> 2 B 2 52 BE BA HH BN
Q7rvrvhIN AEE | 4t 5 52 5 Bz RE
A ITIT EE (4| 6 | 54 R sk 9/16H 3 [El %
EE L 32 -EVE I &HE (| 9 | 54 e 12 R 9/18H 3 [El %
EFZNVEE WE'S &HE (| 7 | 54 ET A r2 R 9/18 7 @8
R Al &HEE (4| 6 | 52 ET A r2 R 9/18 7 8¢

X REEEFOATREDHEFREICLIEHTHY. EEITHIELHYET.
O €REEMER (58)

DN Hr7IIHRR &R | #] 3 49 mEE WM& RIE
OBrvITF4—I— &R Ean 4 54 BiE &z RIE
B4Ya—Ya=x+t &R Ean 4 54 wE B RIE
@IRE—=Y T TR &R | # ]| 5 52 ml Sz RE
®|7ROELRE— 2R | # 6 54 BiE &z RE




